CLASS © XII  CHAPTER .5 (CONTINUITY & DIFFERENTIABILITY

EXERCSE © 5.4 (NCERT)
the %J\lom\fi NE s

Diffesenlials
TN - ( el
L Siun

A

s 2 (€)@ 3 (om)
QS’MM)L

& o

= 2. el = elemn o Qsmx—&sx)
Qi ) QL
\Q\T,\’\O\LZ QL ( SIV)—')() '
-Clﬂ = l
- 5
= eglh x —Z”; (-SH/\ )4) e QSH)? \ = €S|n9&-
| ~n 2 Tt
SNo-3 9\_& W 8 >
o 3 ) 2 2
= e '054‘— ng) C%. 2.0 = zx e
1
@NC‘L—I % ( SM (b‘w;‘e K))
= Cos({—q;{‘é ) ,agi;( (ta;\éx
- -1 T | _
%(fane)xl‘\‘@q)lx 3\71(63\)
- <
RN Cx) _J":_ix' e Z}A(“X)
= W an'e™), L o
e (=)
= 1 -€_)L "5 CbSQtan*‘t)
\ l*@’&)l | e 2 -
‘_ S . l|+tl
M ol [Jﬁd ( Co Q)()j
_ %, "
- l ~ ;LﬂQmﬁ ): ‘ —Aine ' 9}_ (Q\)
s 6, Cac e\ an
- — Sine™ A



& ( ),

"o ] (6 I Rl . e”“b) s

2.

QQ)-;—J»(Q )—PE‘_(Q )foM ) Q\LQCK)

= e 4 S U)*C“ a——bt)i' ex. c‘(x)ﬁ Pl(x)

eX 1 et 2x+¢ ® gutr € gy X st
3 ,3%‘1 S
€X+2X€ +Bxex

(

G & +5>(L'€
QN /. i
. /> =& 53
- o‘v( k/f}z_ 46'316
obt ¥
- v € x- \ e &
Q\YT ;x = l—gﬁ 6
ﬁ - " y),. 45&
- Q 1 de . —L;el‘
éﬁ ) AJKL ) 4
Mo 8

o B U], 2

g—%— (gs) - w'i’lﬁ
e | 5o -

_ g g{@m) (o (b-(yx>~ \ﬂx{«Smw\)-ame._\_i
(q)? - Qg

= ——(;)'L Smx-'lﬁ'}xl"'(““) 5 W20

Sl 4. 17

248 +1) |
L T2) = o) 4,07e0)
v 5\\')(1%71 +GX) Q%\ ‘rC“’): ~Sm(h2{u+e") (\—}%6’0
‘)t.

—
—

——

—





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

